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o=ZELelaYHH LU=
4,000,000 4,000
03 A= &I 6,000 0 6,000
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= 13,298
Al 25,241
8 el T2HE MY 58,607 379,260 320,653
= 30,138
= 9.741
Al 18,728
301 2N = 2,086 28,100 N26,014
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s 9.741
Al 16,642
JYAMSIHEH FERS ZEHE 26,800 233,550 A206,750
= 16,500
=S 3,390
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NEHE SHMUS WX XZ A 1,110,000 1,110,000 0
= 888,000
[ 111,000
Al 111,000
308 XtXIEMSO0IE 1,110,000 1,110,000 0
s 888,000
== 111,000
Al 111,000
11 S 2SS & AET AL 1,110,000 1,110,000 0
ODNBOE HHHS WIX X A
1,110,000,000& 1,110,000
s 888,000
s 111,000
Al 111,000
DEN-EEIH2E SIYAICHE] L Xtel At 58,800 0 58,800
= 27,000
=S 6.720
Al 25,080
308 AHXIHMSO0IA 58,800 0 58,800
= 27,000
= 6,720
Al 25,080
11 S| 2SO0 SHAEAIE 58,800 0 58,800
ODBX-HTIIA2 SIYATI2] LX2| Al
e 58,800,000 58,800
= 27,000
= 6,720
Al 25,080
ZEE ONA MEQIS SHAHY 441,600 0 441,600
= 216,000
= 53,760




2A:

IR DN}

3 2AHE(M=X/=S)
el Agolia 2 RSN (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 171,840
301 EtE NS 48,000 48,000
4Bt 2as 48,000 48,000
OZLE DNA WSOl 2bs At
48,000,000 48,000
308 XtXIEMSO0IE 393,600 393,600
= 216,000
=S 53,760
Al 123,840
11 S 2S0He Y EAS A 393,600 393,600
OZg<d INA MEQIS 2 ALY
393,600,000 393,600
= 216,000
=S 53,760
Al 123,840
FYAMSIHIN & HEHFEE ZE2HE 81,000 81,000
= 36,000
= 13,500
Al 31,500
301 EetE NS 81,000 81,000
= 36,000
= 13,500
Al 31,500
14 JIEt 2 a3 81,000 81,000
OALMBTZH & HEPE TRME
81,000,000 81,000
= 36,000
= 13,500
Al 31,500
g JgEE NEFA KNZAY 460,000 460,000
= 225,000
= 73,000
Al 162,000
301 EtE N = 45,000 45,000
14 DBt 2 a3 45,000 45,000
Oadgd Jlgedd NE=a N2 At
45,000,000 45,000
308 XM SOIE 415,000 415,000
= 225,000
= 73,000
Al 117,000
1 SISt AS A 415,000 415,000
Oadgd Jlgedd nE=a NE At
415,000,000& 415,000




2A: XS E

HE: AN FE(AE=X/CS)
Rl Agola X AHSHINY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 225,000
=S 73,000
Al 117,000
ESGHAIDIY HEQIM & A 400,500 0 400,500
= 202,500
= 65,700
Al 132,300
301 22N = 36,000 36,000
14 0Bt 2as 36,000 36,000
OFSG 34119} HEHQIM L&l Al
36,000,000 36,000
308 XXM SOIA 364,500 0 364,500
= 202,500
== 65,700
Al 96,300
11 S [2S0 e YA AS A 364,500 0 364,500
OESG A FHQIM &d Ar
364,500,000 364,500
= 202,500
== 65,700
Al 96,300
de -y SEEE 22 346,500 0 346,500
= 168,750
s 54,750
Al 123,000
301 EtE NS 30,000 30,000
14 JIEt2 8= 30,000 30,000
0T HEHCIN-FHMY SHET L2
Ared 30,000,000& 30,000
308 XXM SOl 316,500 0 316,500
= 168,750
& 54,750
Al 93,000
11 SIS0 4 A A A 316,500 0 316,500
0T HEHIU-FHMY SHET LTI
Ared 316,500,000 316,500
= 168,750
< 54,750
Al 93,000
ZE WX &% SHA FELR2l ALY 265,000 0 265,000
= 133,650
== 42,450
Al 88,900
301 22N = 25,000 0 25,000




2A:

IR DN}

3 2AHE(M=X/=S)
el Agolia 2 RSN (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 25,000 25,000
OB OILIX % ZoiA BEATel Ate)
25,000,000& 25,000
308 AXIHSOIA 240,000 240,000
= 133,650
= 42,450
Al 63,900
1 SIS0t EAS A 240,000 240,000
O HUX 4F 2244 HEATE Mg
240,000,000 240,000
= 133,650
= 42,450
Al 63,900
de g0y FE HE A2 A 5,079,400 5,079,400
= 2,605,500
== 781,970
Al 1,691,930
301 EtE NS 420,000 420,000
14 IIEt2 83 420,000 420,000
0FY FBLENY HEHATH HE XY At
& 420,000,000 420,000
308 AtXIEHMSOIE 4,659,400 4,659,400
= 2,605,500
= 781,970
Al 1,271,930
1 SIS0t AS A 4,659,400 4,659,400
OZg gE2F4eg FHUMM WE XA A
& 4,659,400,000& 4,659,400
= 2,605,500
= 781,970
Al 1,271,930
U Y SdA E01 N A 96,500 9,500
= 41,250
= 28,875
Al 26,375
301 EtE N = 96,500 96,500
= 41,250
= 28,875
Al 26,375
14 JIEt2d=3 96,500 96,500
0Zdg &Y 22 E201 NE At
96,500,000& 96,500
= 41,250
== 28,875
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